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1. a) What are the advantages and disadvantages of 5
DBMS?

DBMS 3 <l o SefRiears & e

b) Define the following terms 2x2=4
oS AN vicesl 14t (Rigeteent woi):
) Database
ii) DBA
iy Data independence

¢) Whatisalternate key? j 1
Alternate key f& 2

2. Consider the following relational scheme : 2x5=10
Student (Name, roll, mark, Give appropriate
statements for the SQL queries.
896 B(F1Y 991 relational scheme(® IRZI TR
SQL fevat |
1) Create the table including the constraints
FFCEN constraint SYE I table A (AT |



2)
i) Inserttwo records in the table
vl (6 ARRE 79 |
iii) Retrieve name of all students
(el students-< name 31 Sfeted |
iv) Decrease mark ofall students by 2
FHCE student-F 2 AP |
v) To count number of students.
Student-3 7Y} I 1 |

. a) Define natural join and equijoin. 4
Natural join SI% equijoin-< ¥l e

b) Whatis a constraint? 1
Constraint e 2

. a) What is normalization and what is its necessity. 5
Normalization & Sii% Z31g SRHFe! {2

b) Define the terms INF, 2NF and 3NF. Can 2+2+2+4
there be any update anomaly in 3NF relation?
If so, give an example.
igel fardll-— INF, 2NF, 3NF, 3NF relation
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